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Instructions to Candidates: 

Answers should be written completely either in Kannada or in English. 

Section-AA 

Answer any FIVE sub-questions. Each sub-question carries 2 marks. (5x2-10) 

1. a) Give the meaning of work uncertified. 

b) What is job casting ? b) 

Mention any two industries where operating costing is used. c) 

Give the meaning of 'by-products', with suitable example. d) 

What is retention money? e) 

What is 'Escalation Clause' ? 

What do you mean by abnormal process loss'? 

IP:T.O. 
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Section B 

(36=18) 
Answer any THREE questions. Each question carries 6 marks 

2. Briefly explain the different methods of costing. 
3. Annual demand for the component: 9000 units: set-up cost per batch Rs. 9W carry ing cost per unit of production: 2% per annum. manufacturing cost per unlt Rs. 90; 

Calculate:a) Economic Batch Quantity and 
b) find out the number of batches to be produced to meet the annua requirements. 

OD drad: 9000 TED, a d,: a.900 (E CoA 
). SSTAeoT 

a) 

b) 
Totocso. 

4. The following information relates to Cortract No. 9711 
Particulars 

Amount (Rs.) 
Contract Price 

80,00,000 Materials 
7,00.000 
5,00,000 
5,00,000 

Labour 
Tools& Equipment 
Plant 

12,00,000 Materials at site 
1,00,000 

Tools& Equipment at the end 4,50,000 
Depreciate Plant 5% 
Work-in-Progress 
Work Certified 

12,00,000 
2,00,000 

10,00,000 

Work Uncertified 
Cash received 
Date of commencement of contract 01-06-2021 
Prepare Contract account as on 31* March 2022. 
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1 

1.00.0N 

10.00.000 
01-0-0 

A Tanspor ompany is rnning 5 dusses denmn mo citics which are 100 Kms 
he seatin anain ot cach bus is sd passengers The astual passengers 

were a Each bus made one nvnd tip por dar All the buses rnun on all 
the days ot the month. Calculate fr the month of Januan 202: a) Total Kms and 

P'as 

A factor producing article X also vields Y and Z as by-praducts. The Joint cost of 
manufacture and subsequent enpenses are as below: 
Particulars Subsequent Expenses (Rs.) 

Z 
Joint 

Expenses 
(Rs.) 

1.00.000 
50.000 

S.000 
2.500 

500 

Materials 10.000 
10.000 

20.000 
Labour 15.000 

25.000 

1.75,000 
Overheads 5.000 S.000 

40,000 

2.50.000 
25,000 

1.00,000 

40 

10,000 

75,000 
Total 
Selling Prices 
Estimated profit on selling price 
Show how you would propose to apportion the joint cost of manutfacture, under 

35% 50 

reverse cost method. 

PTO. 
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3ddT srres (da.) 

X Y 

(da.) 
1,00,000 20,000 10,000 5,000 

50,000 15,000 10,000 2,500 
25,000 5,000 5,000 2,500 

1,75,000 40,000 25,000 10,000 
2,50,000 1,00,000 75,000 

35% 40% 50% 

Section- C 
yor-

Anawer any THRIEI questions. Fach question carries fourteen marks. (3x14-42) 

P'roduct 'A' passes are through three process for completion. For the month ending 7. 
December 2021 the following the details: 

Partieulars Process 
Total 

Dircet materials (Rs.) 74,620 10,000 30,000 34,620 
Dircet labour (Rs.) 2,90,000 2,00,000 40,000 50,000 
Direet expenses (Rs.) 75,000 40,000 20,000 15,000 
Productiom overhead (Rs.) 15,590 4.350 8,710 2,530 
Nomal loss 3% 5% 10% 
Sale of serap per unit (Rs.) 10 30 50 
P'roduction in units 950 900 830 
1,000 units at Rs. 100 per unit were issued to process I. 

Prepare process accounts, abnormal loss and abnormal gain account. 
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AAA 

N,10 

N 

Salares tth satt 
Repaus and mautenatne R NO,000 
Taes atni usuranr 

tnevst and vher vharyev 00,00 

days t the muth avh bus naude me nnand uip per day. F'nd d 

Rs240,000 

R ,00,0W 
R 100,00 
R8O,000 
Rs.I,o0,000 

R2,o0,000 

R2,00,00 
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,obordA KUDSU d, adUnrdto Koa3, dc. 90 da wsbrib 30rv) 25 Ori= 

oi a) 3 tuo diecvesu'R 3Nevs tbr doa b) 3 ot ond 

A company have undertaken the construction of a building on 01-07-2020 for Rs. 
99.00.000. The details regarding contract as on 31-03-2021 are as follows: 

. 

Particulars 
Materials: 
Direct from suppliers 
From Stores 
Direct labour 

Amount (Rs.) 

25,00,000 
5,00,000 

25,00,000 
2,00,000 

10,00,000 
50,000 
25,000 

,000 
22,500 
30,000 
10,000 

3,00,000 
60,00,000 
2,00,000 

Direct expenses 
Value of plant installed at site 
Administrative overheads chargeable to the contract 
Materials returned to suppliers 
Materials returned to stores 
Materials on hand at site 
Accrued direct labour 
Accrued chargeable expenses 
Sub-contract cost 
Work Certified as approved by the architect 
Work Uncertified at cost 
Cash received 90% of work certified 
Charge depreciation@ 15% p.a., on the value of plant 
Prepare: 1) Contract Account and 2) Cuntractee Account 

01-07-2020 dos Roos3. 31-03-2021 TsDFodd esi iberiri zowo@AT sdeb 
soto83. 

sa (d.) 
Tbh,risD: 

25,00,000 
5,00,000 

25,00,000 
2,00,000 

10,00,000 
50,000 
25,000 

5,000 
22,500 
30,000 
10,000 

3,00,000 
60,00,000 

2,00,000 
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rdesOAS dox de.90 d 

10. The following expenses were incurred on Job No. J-1234. 
(a) Direct Materials 

b) Direct Wages: 
Rs. 45,000 

Department X 

Department Y 
25 hours @Rs. 90 per hour 
20 hours @Rs. 50 per hour 
15 hours @Rs. 80 per hour Department Z 

(c) Works overheads of these departments were estimated as under: 
Department X 
Department Y 

Rs. 40,000 for 2,500 working hours 

Rs. 60,000 for 3,000 working hours 

Rs. 30,000 for 2,250 working hours Department Z 
(d) Ofice overheads were Rs. 2,00,000 when total direct wages paid in ail these 

departments were Rs. 5,00,000. It is the practice to recover office expenses as 
a percentage of direct wages. 

You are required to calculate the cost of Job No. J-1234 and the price to give a 

profit of 50% on selling price. 

iesos DEDFri¢D 0a dex J-1234 R roewoQAS. 
(a) ed TDDN RED do.45,000 
(b) Bed sod: 

Deyon X 25 Mosrisb, z3 roarR do. 90 dos 

20 rio3ro, aia roesR do. 50 dos 

15 riornsD, 3 noe3ri do. 80 do3 

(c) priris soasDFS Sbe©pa dsTodo3 soDE dodooNs. 

on Y 

X 2,500 esd rioesrieri do. 40,000 

on Y 3,000 $osd roearieri do. 60,000 

on Z 2,250 oxd rot3rnoR do. 30,000 

(d) , Doriris ded ëooa iog de. 5,00,000 ier, ddeo soee) 
Go.2,00,000 enob. cbióio ÓAdoorb uots enss sDd teeo 

tox J-1234 d sp aprio nmud iedadb zibes de. 50 d, epo3 

PT.O. 
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In manufacturing the main product EXE. a company processes the resulting waste 

material nto two by-products Xl& X2. Using the reverse cost method, you are 

required to prepare a comparative profit and loss statement ot the three products 

from the following data: 
Total cost upto separation point was Rs. 1.36.000. 

11. 

Particulars Main By-Product 
Product EXE X-1 X-2 

3.28.000 32,000 

9.600 
48.000 Sales (all production) 

Cost after separation 

Estimated profit % on selling price 
Estimated selling expenses as a percentage to sales 

14.400 

20% 30 
20% 20% 20 

Trie 3sriAsbsOn tuti), DDs de.l,36,000. 

X-1 X-2 eod EXE 

3,28,000 32,000 48,000 

9,600 14,400 

20% 30% 

20% 20% 20% 
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